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51. ltisalways desirable /to listen to the advice / who have extensive practical experience /
@ ®) ©
No error
(d) .
Spot the error in the above sentence. If no error choose (d).
D) (@) 2 ® - @) (© . @ @
52. (a) Neither did men ‘nor women go out at night.
_ (b) Not only the kitten was wet but cold also.
()  No sooner does the curtain go up when the children watch the play closely.
Select the grammatically correct sentence/s.
(1) Only (a) (2) Only (b)
(3)  Only (a) and (b) (4) Only (c)
53. - pronouns are always singular.
Which of the following correctly fills in the blank in the sentence above ?
(@) Reciprocal (b) Relative (c) Personal (d) Distributive
Answer Options : )
(1) (c) only (2) (a) only (3) (d) only (4) both (b) and (d)
54. Choose the idiom that means “to reveal a secret or confidential information”.
() Break the ice. (2 Let the cat out of the bag.
(3) Bite the bullet. (4)  Hit the nail on the head,
55.  Choose the correct sentences :

(@ Try and come tomorrow.

(b) Ifelt sure he would die and his money would go to his son,

(€)  The pundit read the first mantra and the bridegroom read the second.

Answer Options ; |

(1) (o) only (2) () only () (b) and () only (4 (a), (b) and (c)
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56. Find t-he forrect indirect speech sentence for -
He said, “I shall go home.”
(1) He says that he shall go home. _ (2) He said that he shall go home.
@) He said that he would go home. (4) He says that he would go home.
57. Had he not sent money on time, the poor farmer his son ?
~ Select the correct alternative to complete the sentence meaningfully.
(1) would lost ' (2) would have lost
(3) would have been lost (4) will have lost
58. Fill in the blank.
Many people are painting )
(1) white their houses these days (2)  these days white their houses -
(3) their houses white these days (4) their houses these days white
59. After years of guilt, she finally decided to make a clean breast of her involvement in the scandal
- and confessed everything to the authorities. What does the phrase “make a clean breast of”
mean ? : X
(1) To clean something thoroughly (2) To reveal or confegs something
(3) To make heartfelt apology (4) To face the consequences of one’s actions.
60. (a) The doctor advised his patient where he should go for a holiday.
(b) The judge wondered who had committed the crime.
(c) Itis a pity that you couldn’t come.
(d) Although aeroplanes sometimes crash, accidents are rare.
Identify the sentence/s with adverbial clause.
(1) Only (a) and (9 (2) Only (b) and (d)
(3) Only(a) and (b) @ _Only (@)
61. Fill in the blank with the correct option given below :
‘Manisha will ___ the prize which is declared yesterday.
(1) Except «(2) Accept (3) Acsept (4) Exept
62. Find the correct option of the question tag for - “They will fail”

(@) They will fail, will they ? (b) They will fail, would they ?
() They will fail, won’t they ? (d) They will fail, will not they ?
Answer Options :

(1) (2) and (b) 2 ()and(d)  (3) (d)and(d) ) only ()

<os TS S / SPACE FOR ROUGH WORK
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63. ‘Iknew that he was ill, but I did not know that he suffered from cancer.’
The above sentence exemplifies i
(@) Compound sentence (b) Compound-Complex sentencg_
(c) Complex sentence (d) Simple sentence
Answer Options :
(1) (o) only @ ®only () @eonly (4 (d)only
64. Choose the correct sentences :
(@) Can you tell me why you're interested in an administrative career ?
(b) Can you tell me why you are late ?
(c) Do you think does your name indicate your personality ?
Answer Options : A
(1) (© only @) (2 and () only
(3) () and (c) only 4) (), (b) and (c)
65. Fill in the blanks with the correct pair of articles in the following sentence. ’
death of the Prime Minister is being grieved by many people in UK.
(1) the, an (2) the, the (3) a, an (4) a, the |
66. Choose the correct idiom and fill in the blank.
The President was and lived beyond his tenure.
(1) hale and hearty (2) quite a catch
(3) talking by the dozen ‘ (4) head over heals
67. Choose the correct meaning of the underlined word in the sentence given below : |

‘The staff members are conversant with the issues.’

(1) Frosty (2) Unfriendly (3) Unknown (4) Familiar

eey] BTHTHTS! ST / SPACE FOR ROUGH WORK
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“My father % by interfering in his neighbour’s affair.”

(1) Got Opportunify for revenge. (2) Got himself into trouble.
(3)  Got injury on fingers. (4) Got worried for his fingers.

Choose the one word which is closest to the opposite in meaning of the underlined word in the
given sentence :

“The leader was pragmatic in his approach to the peoples’ problems.”

(1) Indefinite (2) Vague (3) Optimistic - (4) Idealistic

Identify the correct sentences :

(@) Imet Renu after I had finished my work.

(b) When I first seeing him, I thought he was a lawyer.

(c) He joined after had his dinner.

Answer Options :

(1) (a) only (2) (a)and (b) only
(3) (a) and (c) only | 4)  (a), (b) and (c)

Find out the meaning of the word underlined in the following sentences :

(a) Sheis forever interrupting the conversation.

(b) She has left him forever.

Answer Options -

(1) (a) Previously (b) Currently (2) (a) Officially (b) Previously
(3) (a) endlessly (b) Permanently (4) (a) Permanently (b) endlessly

Identify the verb form of the underlined word in the following sentence.
Swimming ijs a good exercise.

(1) Infinitive (2) Gerund (3) Phrase (4) Clause

el HIFTHIS! WM / SPACE FOR ROUGH WORK ~ PTO.
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. 5 . . ing sentence.
Choose the correct option for the underlined word in the following

The government must cut down its expenditure.

t
(1) obtain (2) increase (3) reduce (4) stop

74.

Choose the correct reported speech of the following sentence.

He said, “I do not wish to see any of you; go away.”

(1)  He said that he did not wish to see any of them and ordered them to go away

(2) He told that he did not wish to see any one of them and punished them to went away
(3) He exclaimed them that he did not wish to see them and even told them to go away.
(4) He said to them that he did not wish to see anyone of them and told them to go away.

75.

Choose the correct sequencing of the following sentence :
The students are

y (@) with the help . (b) for last two hours

» (c) of the teacher  (d) solving the questions

Answer Options :

M @©@b @ @@ b 6 (@ @ e)e (4) (), (®) () @)

76.

Choose the one word substitute for “people living in the same age.’
(1) Delegate (2) Cosmopolitan (3) Curator (4) Contemporaries

77. " After years of searching for answers, she had an epiphany and finally understood the true meaning
of happiness.” Which phrase represents the word “epiphany” ?
(1) “A sudden realization or insight.”
(2) “A feeling of confusion or uncertainty.”
(3) “A state of complete contentment.”
(4) “A strong sense of empathy”.
78. ‘He must be asleep for there is no light in his room.”

The underlined conjunction in the sentence above expresses ___and hence is called

conjunction.
Which one of the following correctly fills in the blanks in the sentence above ?
(a) inference, illative " (b) addition, copulative
(c) contrast, adversative (d) choice, alternative
Answer Options :
1) (c) only (2) (a) only (3)  (d) only 4) (b) only

- =gl BHERITS! WRT / SPACE FOR ROUGH WORK
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Everybody _ speak the truth.
Complete the sentence by choosing the correct alternative.

Match the following pairs with the correct meaning :

(@) Ignorant (i) Stubborn

(b) Imminent (i) Uniformed

(c) Obstinate (iii) Wise

(d) Prudent (iv) Approaching

Answer Options :

(1) @-G), B-Gv), ©-G), @) () (@)-G), B)-0v), ©-0) [@)-G)
(®)  @-Gi), ®)-Gid), ©-), (@-Gv) @) (@G, )6, ©-(), [@)-(v)

Choose the meaning of the underlined idiom :

How can you trust a man who plays fast and loose..

(1) Corrupt nature (2) Who is not existing

(8) Vicious (4) Says one thing and does another

82.

(a) Itis I who am to blame.

(b) Itis Iwho is to blame.

(c) Itis me who is to blame.

(d) ItisIwho is to be blamed.

Which of the above is/are the correct sentence/sentences in respect of Relative Pronoun
agreement ?

(1) (b)only (2) both (a) and (d) (3) (a) only @) () only

83.

Match the words from ‘A’ with their correct meaning from ‘B’.
‘A’ B’
(@) Annihilate (i) One who walks in sleep
(b) Celibacy (i) One incapable of being tired
() Indefatigable (i) The state of remaining unmarried
(d) Somnambulist (iv) To destroy completely
Answer Options :
@)  (a)-(), B)-G), (©-(), (d-Gv) @) (@)-(), b)-6), (c)-(i), (d)-(iv)
3) (a)-(v), b)-(), ©)-G), (@)-) @) (@)-{v), b)-(i), (c)-(i), (d)-()

=] BIHRITS! ST / SPACE FOR ROUGH WORK PTO.
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: e s i sentence :
84. Find out the correct meaning of the underlined idiom 1t the given

“Why are you hanging back .? You sing as well as anyone else.

(1) To hesitate to proceed (2) To repeat

(3) To break the voice (4) To come late

85. “If I had wings, I would come flying to you.”

Which of the following conditions is expressed by the sentence above ? ' 3
(@) Impossible condition (b) Improbabléfco’ndition e

(c) Probable condition (d) Likely condition '

Answer Options : . .

(1) (d) only 2) (a) only 3) (c) only (4)  (b)only

86. Select the idiom that means “to try to achieve something that is difficult or unlikely.”

(1) Turn over a new leaf. (2) Throw in the towel.
(3) Beat the dead horse. '(4) Reach for the stars.’

87. ‘Those who are : in the art of flattery make a rapid progress in their life’.
Select the correct word to make the sentence meaningful. ' '
(1) adopt (2) adept (3) adapt (4) about

88. Find out the correct meaning of the underlined idiom in'the given sentence :
“Unless a poet is in his element, he cannot write good poetry;ff'-;
(1) Inhishome  (2) Inhisjob (3) Inhis (4) In the right mood

\\ s

89.” Match the foliowing :

(@) Demonstrative pronoﬁns (i) 'myself, herself

(b) Emphatic pronouns (i) what, which
(c) Interrogative pronouns (iii) ahyone, everybody » "
(d) Indefinite pronouns (iv) This, that )

Answer Options : |
(1) @), B)-6) @6 @6 @ @), O ©-Gi), (@)
@) @-G) BH), OO @6 @ @) GG, @G, @ g

Cozzll HTHTETS! VI / SPACE FOR ROUGH WORK
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90. Identify the wrongly spelf word/s from the following words.

(@) Accept (b) Anciant (c) Attract (d) Arrive
Answer Options :
(1)  (b) and (d) (2) Only (a) (3) (b) and (c) (4) Only (b)

91. Identify the grammatically correct sentence/s.
(@) He is the man whom we all respect.
(b) Idon’t know why she like dogs.
(c) His endeavours needs ’to be rewarded.
(d) Give me some food which I may eat.
Answer Options : . '
() (@) and (b) only @ (b)and (q) only
() (2)and (d) only ) @and(Qonly

92. Find the correct synonym for the word, “Tranquil”. : ’
(1) - Agitated (2) Angry (B) Quiet ~ (4) - Disturbed

93. Find out the correct option for the following matches :

(4) (B)
(a) Altar ~ (i) Pretence, false show
(b) Alter ‘ (i) Place of worship .
(c) Affection (iii) To change

- (d) Affectation (iv) Love, dedicate, emotions of liking
Answer Options : ;
@) @-G), GG -G, @-Gv) ) (@-G) b)-G) (©)-(v), (d)-(i)
@) (@-d), b)), @©-Gv) (-0 @) (@)-Gv), B)-GH), ©)-6), (d)-(ii)

94. The politicians response to the accusation simply begged the question and failed to provide a clear
answer. What does the phrase “to beg the question” mean ?

(1) To ask for a favour or assistance.
(2) To avoid answering the question directly.
(3) To make a logical fallacy by assuming the conclusion in premise.

(4) To question someone’s authority or credibility.

el HTATATS! I / SPACE FOR ROUGH WORK PTO.
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95. Choose the correct sentences.
(a) Her work is superior than her brother’s.
(b) This photograph is the better of the two.
(c) This little girl is better than clever. A
Answer Options :
(1) (b)only (2) (a) and (b) only
(3) (b)and () only (@) (a), (b) and (9

Read the following passage carefully and answer the questions-from 96-100 given below :

, Data Management is one of the hardest and costliest tasks every organization faces. The fact that
organizations appoint a Chief Data Officer (CDO) shows how much importance they give to managing
data - its treatment, classification, analysis, security and compliange. This is where Deep Learning (DL)
shines as a perfect data management strategy when employed with the right set of tools.

While DL has been around for a while, the recent popularity of Chat GPT brings it back to being a
hot topic in the world of AL ‘Qeep Learning is a subset of Machine Learning (ML) and is based on how
the human brain is structured and works) DL uses artificial neural networks to learn from large amounts
of data. It gets the name ‘deep’ because it leverages multiple layers of interconnected neurons to process
and learn from the data. DL algorithms are capable of learning complex patterns in images, audio and
text. Deep learning uses large amounts of unlabelled data to learn the underlying structure and patterns
in data. It is an unsupervised learning module that does not require labelled data to start learning from.

Deep Learning gained popularity in the 1980s with the development of back-propagation -
a technique for training neural networks. In the 2000s the evolution of advanced techniques with respect
to dropout and rectified linear units (ReLU) helped address core challenges. In 2012, AlexNet, a
convolutional neural network, focused on image recognition, won awards and regained popularity for
mainstream uses in Natural Language Processing, speech recognition and autonomous vehicles. ‘

Some common use cases of Deep Learning are listed below :

(@) Image Recognition : Classification of images leveraging DL algorithms is being done across
healthcare institutions for the diagnosis of diseases. b

(b) Natural Language Processing : When integrated with DL algorithms, opéns up use cases like
chatbots, machine translation and voice assistants. : b

() Speech Recognition : DL algorithms help transcribe spoken language for use cases like speech-to-
text transcription and voice assistants. :

(d) Fraud Detection : Deep learning algorithms help to keep a lookout for fraudulent transactions in
banking and finance.

(¢) Autonomous Vehicles : DL algorithms help to navigate the surroundings in autonomous vehicles,
enabling real-time decisions to be made while these cars are on the road. '

As the ‘deep’ in Deep Learning represen.ts the depth of layers in neural networks, a neural network
that consists of more than three layers is considered a deep learning algorithm. Deep Learnin g networks

are feed-forward models but they@n be trained to ba.xck-propagate as well. Yhe latter is especially
useful to provide‘.a feedback on errors so that the algorithm can be corrected appropriately.
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96. Deep Learning algorithms can be corrected on the basis of error-feedback provided by
Which of the following correctly fills the blank in the sentence above ?

(a) Layers of interconnected neurons. e
(b) Fraudulent transactions in banking.

(c) Back-propagation.

(d) Data Management System (DMS).

Answer Options :

(1) (b)only (2)  (a) only (3) (d) only 4) (c) only
97. Basically speaking Deep Learning is a : it}
(@) Neural Module (b) Hot topic in the world of Artificial Intelligence (AI)
(c) Data Management Strategy (d) Back-Propagation technique
Answer Options :
M @ony (@ @enly () @only (4 (b)only

98. Deep Learning plays a very important role in
(@) identifying the structure of human brain. ;
(b) the treatment, classification, analysis and security of data. -
(c) controlling the dropout and Rectified Linear Units (ReLU).
(d) measuring the depth of layers in neural networks: E
Answer Options :

(1) (0 only (@) () only 3) (a) only @ (@ only

99. One important feature of Deep Learning is that
(@) Deep Learning requires a Chief Data Officer (CDO).
(b) Deep Learning is a module not requiring labelled data to learn from.
(c)  Deep Learning is a subset of Artificial Intelligence (AI).

{4y Deep Learning is more efficient than Machine Learning (ML)
Answer Options :

(1) (d)only @ @only (3 (b)only (4) (a) only
100. Deep Learning is a part of .
() AlexNet (b) ChatGPT
(c) Machine Learning (ML) (d) Natural Language Processing (NLP)
Answer Options : : ' |
(1) (c) only (2)  (b) only (3) (d) only (4)  (a) only
-00o0-
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